The present continuous (-
Telling the tim=

Is it cold? What
are you wearing?

// Yes, it's cold and windly.
| I’'m wearing a red scarf.

=

He's wearing a brown coat |
and a brown hat.
=T aar e

I'm wearing is the present continuous tense of the verb wear.
We use the present continuous tense to talk about things that
are happening now. Grandma and Grandpa are wearing their
coats now. They don’t wear them every day.

Short form Long form

I'm wearing I am wearing
you're wearing  you are wearing
he’s wearing he is wearing
she’s wearing she is wearing
it's wearing it is wearing

1 Underline the present continuous verbs.

1 Mr Jones is a policeman. He wears black trousers. Today is Sunday.
He’s at home. He's wearing jeans.

2 I'm adoctor and I wear a white coat. Today is Saturday.
I'm wearing brown trousers and a white shirt.

3 My mum works in a supermarket. She wears a blue dress.
Today is Sunday. She’s wearing a red skirt.

4 TJohnis a pupil. He wears black trousers. Today is Saturday.
He's wearing shorts.
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. Write the words in the correct order.

a brown I'm wearing hat

I'm wearing a brown hat .

blue I'm jeans wearing

red scarf wearing a I'm

trousers black wearing I'm

He’s wearing a red shirt. a
She’s wearing a hat. il
He’s wearing a brown scarf.

She’s wearing black boots.

She’s wearing a blue skirt.
He’s wearing jeans.
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4 A puzzle. Read the information and complete the chart.

Erica, Penny and Tina are at the station.

One girl is on the train. One girl is on a chair. One girl is next to a poster.

One is wearing jeans. One is wearing a red skirt. One is wearing a green T-shirt.
Erica is wearing a red skirt.

The girl on a chair is wearing jeans.

Erica is next to a poster.

Penny is wearing a green T-shirt.

Name Where is she? She is wearing ...

Penny a green T-shirt

next to a poster

jeans

5 Complete the sentences.

1 Dad’s a cowboy. He’s wearing  white boots.

2 Imapalicemiapns . . ... blaclktiausess,

3 Mumsayrichlady.. . a long dress.

4 Grandpa’safireman. _a yellow hat.
5 Alisonsagdactor. .. 58 gwhilpceat:
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No. It's quarter to eight!
We're at school!

It’s quartertosix.  It'ssix o’clock. It’s quarter pastsix. It’s half past six.

6 Alison likes to dress up. What time is it?
1 It’'s_half past seven | i

She’s wearing a big hat.

4R L S
She’s wearing Dad’s boots.

3 It's _u
She’s wearing Mum’s gloves.
4 It's
She’s wearing a scarf.
5 Ths
She’s wearing a long skirt.

6 It’s
She’s wearing a pink shirt.
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